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INDIAN SCHOOL AL WADI AL KABIR  
Class VI, Mathematics REVIEW WORKSHEET 

OBJECTIVE TYPE QUESTIONS (1 Mark) 

Q.1. Which of the following when rounded off to nearest thousands will become 55,000 

 A 55,678 B  55,500 C  54,499 D  55,345 

Q.2. 
Insert commas suitably and write the given number 87595762 in Indian and International 

system of numeration  

 A 

875,957,62  

and  

875,95,762 

B 

875,95,762 

and  

8,75,95,762 

C 

8,75,95,762  

and  

87,595,762  

D 

87,59,57,62 

and  

875,957,62 

Q.3. 
Use the given digits without repetition and make the smallest four-digit number: 

1, 7, 6, 2,0 

 A 1267 B  1026 C  2016 D  2106 

Q.4. 

If you were to buy a study table online for a profit, which site will you buy it from?  
Amazon - 5090 

Snapdeal - 5050 
Flipkart - 4945 + 50 Rs. delivery charge 
Firstcry - 5009 

 A Amazon B Snapdeal    C Flipkart D  Firstcry 

Q.5. 
Which Roman numeral is incorrectly paired? 

 

 A D = 50 B  M = 1000 C C = 100 D  X = 10 

Q.6. If 975 kg of wheat is packed in 15 bags, how much wheat will each bag contain? 

 A 60 kg B 95 kg C 65 kg     D   55 kg 

Q.7. 
What is the successor of the successor of 1,099 

 

 A 1100 B 1098 C  1097 D 1101 

Q.8. 
Write the place value of the digit 6 in the given number 2,68,481 

 

 A 10,000 B 60,000 C 1,000 D  6,000 
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Q.9. 
The smallest four-digit number having three different digits is 

 

 A 1000 B 1001 C 1002 D 1023 

Q.10. 

Rita has a ribbon of length 2070 mm. Sita has a ribbon whose length is 500 mm shorter 

than that of Rita's ribbon. Approximate the length of ribbon that Sita has, to nearest 
hundred. 

 

 A 1600 mm B 1500 mm C 3000 mm     D 1700 mm 

Q.11. 

In a city, polio drops were given to 2,12,583 children on Sunday in March 2018 and to 
2,16,813 children in the next month. Find the total of the number of children getting polio 

drops in the two months. 
 

 A 4,19,396 B  4,29,396 C  4,29,296 D  4,39,396 

Q.12 

The following picture depicts...   

 

 A 

The bigger hand 

is depicting whole 
numbers while 
the baby's hand 

depicts natural 
numbers 

B 

The bigger hand 
is depicting 
natural numbers 
while the baby's 
hand depicts 
whole numbers 

C 
I don't see any 
relationship      

D 
Both hands depict 
the same number 
system 

Q.13. The Hindu-Arabic numeral for XCVIII is 

 A 95 B  108 C  89 D  98 

Q.14. 

The town newspaper is published every day. One copy has 16 pages. Everyday 12,574 

copies are printed. How many total pages are printed every day? 
 

 A 2,11,184 B 2,01,184 C  1,11,184  D   1,11,108 

Q.15. Which of the following will not represent zero? 

 A 1 + 0  B   
0

2
 C  0 × 0  D   

20−20

4
 

Q.16. Number of whole numbers between 38 and 68 is 

 A 30 B 28 C  29 D   31 
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Q.17. The value of 166 × 77 + 166 × 23 is: 

 A 16500 B  7700 C  2300 D  16600 

Q.18. 
A fruit seller sold 8 dozen of papayas on Monday and 12 dozen of papayas on Tuesday. The 

cost of a dozen of papayas is ₹ 70. How much did he earn on both days? 

 A ₹ 1400 B ₹ 1200 C    ₹ 800      D   ₹ 1600 

Q.19. Find the value of 8 × 103 × 125 by suitable rearrangement.  

 A 12500 B  103000 C  1250000 D  1030000 

Q.20. Find the sum of 15408 + 279 + 692 + 421 by suitable rearrangement. 

 A 16100 B 16700 C  16800        D   17000 

Q.21. 
Rinkesh bought a tennis racket for ₹ 1375, a football for ₹ 550, and a chessboard for ₹ 425. 
Find the total amount spent by Daniel. (Use suitable rearrangement) 

 A ₹ 2350 B ₹ 1800 C ₹ 1700  D   ₹ 2400 

Q.22. Multiplication of whole numbers is  

 A closed  B  commutative  C  associative D  all of these 

Q.23. 
Which of the following numbers can be represented in three ways (line, triangle and 
rectangle) using the dot (.) pattern? 

 A 8 B 12 C 16         D  10  

Q.24. The smallest natural number divided by the smallest whole number is 

 A 0 B  1 C  not defined  D none of these 

Q.25. 

Fill in the box with +,− × or ÷ sign in 

3,00,40,800              1 = 3,00,40,799 

 

 A + B  − C  × D  ÷ 
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Answers 

A
n

sw
er

s 

1 D   2 C 3. B 4 C 

5 A 6 C 7 D 8 B 

9 C 10 A 11 B 12 A 

13 D 14 B 15 A 16 C 

17 D 18 A 19 B 20 C 

21 A 22 D 23 D 24 C 

25 B       

********* 

 

 


